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General Instructions :

Read the following instructions carefully and follow them :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viit)
(ix)

(x)

This question paper contains 33 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

Section A - questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

Section E - questions number 31 to 33 are long answer type questions. Each
question carries 5§ marks.

There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Use of calculators is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark

each.

16x1=16

The product of oxidation of SOg_ with MnO, in acidic medium is :

(A) SO (B) SO
© s D) 8,07
The coordination number of Co in [Co(en)3]3+ is :
A 3 B) 4

C 5 (D) 6
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o (el e h

3. TmfciRed d%pai § & SH-A1 3RS 7 ?
(A)  [Co(NHg)s Clg]
(B)  [Co(NHg), Cly] Cl
(C)  [Co(NHy); Cl] Cl,
(D)  [Co(NHg)gl Clg

4. F=fafea @ @ wH-wn df=afos 3amEs 8 2
5. Tfafga o 9 frmehl g § HHTa 1 7 g ?
(A) T
(B) o-:l'lg'gﬁtﬁﬁﬂ
(C)  o-AATFATHITA
(D)  o-UfyThIATA

6.  HI o 919 31fshaT ik (CHg)3 C— O — CH, &l @
(4)  (CHg)3 C -1+ CH30H
(B) (CHg)3C-I+CHg-1I

(C) (CHz)3C—-OH +CH; -1

(D) (CHg)3 C - OH + CH;0H



3. Which one of the following complexes is non-ionisable ?
(A) [Co(NHg)3 Clg]
(B) [Co(NHjg)4 Cly] Cl
(C) [Co(NHg)s5 Cl] Cly
(D) [Co(NH3)gl Clg

4., Which of the following is a benzylic halide ?

5. Phenol is less acidic than :
(A) ethanol
(B)  o-nitrophenol
(C)  o-methoxyphenol
(D)  o-methylphenol

6. (CHg)3 C — O — CHg reacts with HI to give :

(A)  (CHg4C -1+ CH;0H
(B) (CHg)3C—-1+CHg-1
(C) (CHg)3C—OH +CHy -1
(D) (CHg)3 C-OH + CH3OH

56/2/2-12 5 VWMWY P.T.O.



7. UfEE e 9 feemes wEifee | ffda gidt 2 2

(A)  d=Igh 37

(B) A
(©) afafafas
(D) Afets 3

8. T gdl % el foe@a <1 FaeMdTeh 39 THI gdi o Fa9HTeh § I=MX JidT &
Sid I -
(A) HJ« @
(B) U3 9w ¥ aHrcAes fa=e ewitar @
(C) U3ce o ¥ Fumcqss foaes gwrian 8
D) T3ee g 8 +I5 fome 78] <iar 8

9. S CuCly % foed-sT1aeed & R -
(A) TS W Hy (g) Jod &Il B
(B) %t W Cu fifa g 2
(C) THE W Oy (g) Y Bl &
(D) e W Cly (g) Gk Bl B

10. et wem ife i erfufshen it 3rdf-3my 1386 Twhvs B | SAfufshar &1 o
s (k) B -
(A)  05x 107
B) 50x 10557
(C) 5x102g7t
D) 05x 102



7. Aspirin is formed by the acetylation of :
(A) Benzoic acid

(B)  Phenol
(C)  Salicylic acid

(D) Phthalic acid

8. An azeotropic solution of two liquids has boiling point higher than either

of them when it :

(A) issaturated

(B)  shows positive deviation from Raoult’s law
(C)  shows negative deviation from Raoult’s law

(D) shows no deviation from Raoult’s law

9. During electrolysis of aqueous CuCl,

(A)  H,(g)is liberated at cathode
(B) Cuis formed at cathode
(C) O, (g)is liberated at anode

(D)  Cl, (g) is liberated at cathode

10. Half-life period of a first order reaction is 1386 seconds. The rate constant

(k) of the reaction is :
(A) 05 x 1037
B) 50x 10557
C© 5x102s7!

D) 05x 10257
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11. Tore ramsusiicr faei & Seliy faoa o a9 e« &1 Sferes 31a9m 0-0225
2 | 7arsiied focid 1 HiA-3191 2

(A) 080
(B) 0-725
(C) 015
(D)  0-0225

12.  AMTHRIT 2A + B, — > 2AB
& Taw stffsean o fean man 2
T = k [A]? [By).

371 TR (k) T A ST ST HehelT @ :
(A) A <hl Higdl Sget

(B) B chl Higdl gTeht

(C) dmM dglehl

(D) 3ugFd gt dH & g

9T G&IT 13 @ 16 & 70, 31 &7 130 70 § — G743 v &1 HAf9wI7 (A) Tor
gt &1 FROT (R) GRT 3ifaha a1 747 § | 37 9971 & @gl I 714 137 7Y Fist
(A), (B), (C) 3R (D) & @ g7 v |

(A) R (A) 3 SR (R) ST T& & W Rl (R), 3ThAT (A) 6
&1 ST HLdT 2 |

(B)  AfIH (A) 3T SR (R) gHI T&l &, T R (R), ke (A) 6
gl U1 T8l hLdl @ |

(C) AR (A) HEI 8, T SR (R) T 7 |

(D) 3R (A) A &, 94 SRl (R) T8 7 |



11. The relative lowering of vapour pressure of an aqueous solution
containing non-volatile solute is 0-0225. The mole fraction of the

non-volatile solute 1is :

(A) 0-80
(B) 0725
(C) 015
(D)  0-0225

12. The rate of the reaction 2A + By —— 2AB is given by
Rate = k [A]? [By).

The value of rate constant (k) can be increased by :
(A) increasing the concentration of A
(B) increasing the concentration of B

(C) increasing the temperature

(D) all the above three

For Questions number 13 to 16, two statements are given — one labelled
as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

56/2/2-12 9 VWMWY P.T.O.



13. %I (A) : Wafdw moftes tdiH 1 fomm dfswa dfeee gvevw g

ERIRIRET IR

HR (R) : Ufeshd aase AfTHESES O Ut ROIA & 91 ATIYeRE]
TfoEeTT AT 7 |

14. 379%97 (A): RNAH T g 3ufedrd gian & |

HRT (R) : RNA TR0 il 3 |
15. 37W%H97 (A) : Ulcthicsh UHHT & SEUAHIH g WHAfdsh WHHT 61 qarT |
3fres Tl 31 @ |

FROUT(R):  CUHTEH THHET & STEUANRE AU 3TATE S0d & |
16. %97 (A) : el < sen WfRfiemses (¢L)—NHCOCH;) % aieh
BT 2 |
FRU(R): VAR & THifeem & Srur tfaefarge o AEgeeH W s

gcd 9 T4l © |

Qs @

17. T=faRad wei =t uitariva Hifw . 2x1=2
(%) oTERIH UHHT 37

(@) fFAAeEs

18. (%) Aifieni o FeAfaRed I ® ¥ &E-w1 Afee Afoe dioar @ Syl
TR ST & 3R i ?

(@) fF=fafed ¥ gea 3are fafEu - 2x1=2



Define the following terms :

Aromatic primary amines can be prepared by Gabriel
phthalimide synthesis.

Alkyl halide undergoes nucleophilic substitution with
anion formed by phthalimide.

Uracil base is present in RNA.

RNA undergoes self-replication.

Diazonium salts of aliphatic amines are more stable than
those of aromatic amines.

Diazonium salts of aromatic amines show resonance.

Acetanilide (¢_)—NHCOCH,) is less basic than aniline.

Acetylation of aniline results in decrease of electron

density on nitrogen in acetanilide.

SECTION B

(a) Essential amino acids

(a) In the following pair of compounds, which compound undergoes
Sn1 reaction faster and why ?

(b)  Write the major product in the following :

13. Assertion (A) :
Reason (R) :
14. Assertion (A) :
Reason (R) :
15. Assertion (A) :
Reason (R) :
16. Assertion (A) :
Reason (R) :
17.
(b) Nucleotide
18.
56/2/2-12
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2x1=2



19.

20.

21.

22,

23.

24.

56/2/2-12 12

fopelt weorm shife <t srfifspan =t o i 125x 1072 571§ | 38 Stfirepdes &
5g ol 2:5g U g U fehaaT a0y o ? 2

[log 2 =0-301, log 3 =0-4771, log4 =0-6021 ]

(%) TS 3THaA FAT 2 ? A-AAIIS AHa hl gorl H Th dad 8 G

aed o ofte UfekeArag stehan 2afersh giar 8 | =i 2 1+1=2
3rrat
(@) GspHY gTqe HUH TASH % I O R gid! & ? 3d-2vft § fohm o=
I HUF TAA TEH HH B 2 1+1=2

IfET (WIeR 90 = 60 g mol L) &1 4% foerm fordt sr3ma e gerd &
5-2% TIAI o Y FHITER! & | A Hreieh qgrd 1 30 HR IRehierd

i | 2x1=2
@WUE T

9 H 17°C § 27°C T Jhg e W Trdl Tea Afshan &1 o1 &9 1 &

J1aT 3 | 39 ffRan & fou afshaor St o1 aftesaq hifs | 3

[fe=n = 2 :2:303 R=19-15 JK "' mol 1, log 3 =048 ]

fafaiea 9@ =1 fa.ar. 5@ (emf) TTEhioTd @'%IQ : 3

Zn (s) | Zn%* (0-1 M) || Sn2* (0-001 M) | Sn (s)

[log 10 = 1]

283 K W foreht faamees &1 a9 €@ 100 mm Hg g | 39 a7 o™ &1 am
g uftehfera shifore fomd 283 K W foredt year fagga-3veed AB &1 1 #ia
faame® & 50 A § g7 7 (I8 W wiie b foei™ AB quia: ToRiifSia &1 S
2) | 3




19.

20.

21.

22,

23.

24.

A first order reaction has a rate constant 1-25 x 107 s~'. How long will
5 g of this reactant take to reduce to 2-5 g ? 2
[ log 2 =0-301, log 3 =0-4771, log4 =0-6021 ]

(a)  What is lanthanoid contraction ? Actinoid contraction is greater

from element to element than lanthanoid contraction. Why ? 1+1=2

OR

(b)  Why do transition metals have high enthalpy of atomization ?

Which element of 3d-series has lowest enthalpy of atomization ? 1+1=2

A 4% solution of urea (molar mass = 60 g mol™}) is isotonic with 5-2%
solution of an unknown organic substance. Calculate the molecular

weight of the unknown organic substance. 2x1=2

SECTION C

The rate of a gaseous reaction triples when temperature is increased

from 17°C to 27°C. Calculate the energy of activation for this reaction. 3

[Given : 2303 R = 19:15 JK ! mol %, log 3 = 0-48]

Calculate emf of the following cell : 3

Zn (s) | Zn%* (0-1 M) || Sn2* (0-001 M) | Sn (s)

[log 10 = 1]

The vapour pressure of a solvent at 283 K is 100 mm Hg. Calculate the
vapour pressure of a dilute solution containing 1 mole of a strong
electrolyte AB in 50 moles of the solvent at 283 K (assuming complete

dissociation of solute AB). 3

56/2/2-12 13 WAV NN P.T.O.



25.

26.

27.

28.

frforfaa srffpansti # A, B 3t C &1 greaTd fafau - 2><1é=3

KCN NaOH + Br2

OH
ED CH,-CH,-B >A - > > C
() 3 2= Bt JTTITeR TA-3TTTH
@) Fe+HCl  , NaNO, +HCl . CHOH
273 - 278 K
fafafga @ gag Afufsean fafaw . 3x1=3

(%) ach-TFeR 9=
(@) Tarmeifegem tfufsrn
() hiaemr SAfafshan

freferRaa & formm & fow erfyfsransti & wfistor e @ (@18 717) 3x1=3
F)  FAREE O BHEA

(
(@) P 8 dfcafesass

() e @ 2-AteEuE G
(

)  HHEE o fufshe o

ffcTRed % T ror fT 3x1=3
(%) FAA TAlU s AUTTh WE & [ ol I8 UHRSH soiagireft
iy rfirfshanatt & o1ven /o feses 2 |

(@) ufies fusor geor sreoiss gar @ |

()  n-ATUA TS 6 7T et FAES Afereh ST & SA-ST9Efed &l
ST 8 |



25.

26.

27.

28.

Write the structures of A, B and C in the following reactions : 2x1 é =3

- NaOH + B
(@) CHy—CHy—Br XN o OH 5 WaOB+Pn
Partial hydrolysis

A
7

b) Fe + HC1 S A NaNO, + HCl B C,H.OH . o
273 -278 K
Write the reaction involved in the following : 3x1=3
(a)  Wolff-Kishner reduction
(b)  Decarboxylation reaction
(c) Cannizzaro reaction
Give the equations of reactions for the preparation of : (any three) 3x1=3
(a) Phenol from chlorobenzene
(b) Salicylaldehyde from phenol
(c) 2-Methoxyacetophenone from anisole
(d) Picric acid from phenol
Give reasons for the following : 3Ix1=3

(a) Chlorine 1is ortho/para directing in electrophilic aromatic

substitution reactions, though chlorine is an electron withdrawing

group.
(b) Racemic mixture is optically inactive.

(c)  Allyl chloride is hydrolysed more readily than n-propyl chloride.

56/2/2-12 15 WAV NN P.T.O.



Qus ¥

REferfaed 3o &aq-3emia 397 & | 39 #1 Tyd% 7/gT 3K 137 70 Fe7) & I G |

29. THAU UGS h I AT HFUAT FET H d-Heh YU Bd B | T
et § oy wftd d-herehl Y Sufedfa dshuur dwdl l sTEsREUl awl O
T L ¢l B | MR €9 T i@ d-heqehl o HRU A 0 B AfHefores
U7 SR 3, S 3Teh SATFIhUl FIEAY, TiF AT T F9T AT 3P TR
% fomTel & @Y Hepet o anfe | HhAor arqd qen ek AR IEh! 01 @
IITFhT FaER it GRd & | HhAUl 91U Afd HoR qAT 3Tcd AT Bt
g 1376 E° % wHl <l Sita aiadt ggfa gl 2 -

M2+/M
(0}
Bz
\% ~118
Cr - 091
Mn ~118
Fe —0-44
Co ~0-28
Ni ~0-25
Cu + 0-34
Zn ~0-76
freferfad gt & 3w G
(%) TorE STTUR W & %8 Hhd B T Cu T TshHvT a8 AAfehd Zn & ?
(TTATY] 3pHTSh : Cu = 29, Zn = 30) 1
(@) Gshrvl aa ATt sraweneti o fafaear =i goia & 2 1
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SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

29. Transition metals have incomplete d-subshell either in neutral atom or in
their ions. The presence of partly filled d-orbitals in their atoms makes
transition elements different from that of the non-transition elements.
With partly filled d-orbitals, these elements exhibit certain characteristic
properties such as display of a variety of oxidation states, formation of
coloured ions and entering into complex formation with a variety of
ligands. The transition metals and their compounds also exhibit catalytic
properties and paramagnetic behaviour. The transition metals are very
hard and have low volatility. An examination of the E§42 L values

shows the varying trends :

E§42+/M
V - 118
Cr - 091
Mn - 118
Fe - 044
Co - 0-28
Ni - 025
Cu +0-34
Zn - 076

Answer the following questions :

(a) On what basis can we say that Cu is a transition element but Zn is
not ? (Atomic number : Cu =29, Zn = 30) 1

(b) Why do transition elements show variety of oxidation states ? 1

56/2/2-12 17 WAV NN P.T.O.



M () dHfemm g e T E1(\)/12+/M % HMH AWAMT g = @I

29
(i) EHTYT GTg3T H ATeiTehtur Taeerati il IRFd-IdT STEsHAY qedi
&1 yiEgdTrrar @ fee geer f=1 gidl @ 2 2x1=2

AAAT

(M () Cr’t Yed AYEES & Seieh MnSt Uedl SAleHiehNeh, Sefeh a1
& q* ohsfiar &, ==t 2
(TATY] ShHT : Cr = 24, Mn = 25)
(i) T st st qui i 2x1=2

2MnO, + H)O+1™ ——

30. HEIEESe Wl 3N IR ST T Sied & oY 3Ta9deh 81d & | Nen | T
h! T N TR H TATgehlo o &9 H AR TUEY YA i Hifd T
Bd ¥ | THEtE w9 W ¥ uiivemglad UfeeEss AU HRE B 8 |
HEEEGS hl TA-UAH H ITh FIER & AYUN W HAFERSS,
Sferméshtss R Uifcdhise | afieha foram o1 B | @Yt AH™SUsS o=
AU BT 8, AT A <o SATehHeh qol hiow faeeH & sAfalied gl It & |
I SET AHIARUSS UeSTaddlsl Bidl @ 3T 8! TG T CgH,506 TR
T | fafy= srfieedent S HI, HoN — OH, SiHH 5id, (CH3C0)50 $Tie %
T ITHTRAT FHieh 3T T H Th Ufcegns g, Toh WAHG Ueehlgiclsh
T0g (- CH,OH) 3R ¥R fgdfiee Uewigifcle @8 (>CHOH) 49T T |
ufcegTse Hg U Bid gu i ke Ufcegiss aqg i $ AWGRAT JH
3 wdierur, NaHSO3 a9 781 ST § | I8 b o al =shid gHIvHISA &9
% AT I FHedl & fo8 f=a1 had C — 1 W 3UTEUd gEgiedd a9g %
fomamer & Bt 2 |

56/2/2-12 18




(¢c) (1) Whydo El(\)/12 . values show irregular trend from Vanadium

to Zinc ?

(ii1) How is the variability in oxidation states of transition metals

different from that of the non-transition elements ? 2x1=2

OR

(¢ (@) Of the d* species, Cr?t is strongly reducing while Mn3* is
strongly oxidizing. Why ? (Atomic number : Cr = 24, Mn = 25)

(ii) Complete the following ionic equation : 2x1=2

2MnO; +HoO+1™ ——

30. Carbohydrates are essential for life in both plants and animals.
Carbohydrates are used as storage molecules as starch in plants and
glycogen in animals. Chemically they are polyhydroxy aldehydes or
ketones. On the basis of their behaviour on hydrolysis, carbohydrates are
classified as monosaccharides, oligosaccharides and polysaccharides. All
monosaccharides are reducing sugars, i.e., they are oxidized by Tollens’
reagent and Fehling’s solution. A monosaccharide like glucose is
aldohexose and its molecular formula was found to be CgH;90g4. After
reacting with different reagents like HI, HoN — OH, Bromine water,
(CH3CO)50, etc. its structure was found to contain one aldehyde group,
one primary alcoholic group, (- CHyOH) and four secondary alcoholic
groups ( > CHOH). Despite having the aldehyde group, glucose does not
give some of the reactions of aldehyde group like Schiff’s test, NaHSOg
addition. This explains the existence of glucose in two cyclic hemiacetal
forms which differ only in the configuration of the hydroxyl group at
C-1.

56/2/2-12 19 WAV NN P.T.O.



f=fafega goi & s dfSu

31. ()

56/2/2-12

IR IR AT Bl 8 2 1

frfcTRad 1 AFERUTS 3R SEEHUse H Fiflehd I :

Shaed, Yhid, TFH, Tide™ 1

39 UifAdhUss 1 919 odsu ol Uoft T &gl S g | 39 “umft
T 1 had 8 ? 2

AAAT

(i)  TEhE % 3 GHEIEl o AW FA1SC ek T5hd €1 H C — 1 W

— OH uwg & fo=rma 4 & fiy=tar gt 7 |
(i) TRE HI Brg @ o @Y AMUGRAT fRE TRRITcHS THg I
Iuferfa =t gfy ot g ? 2x1=2
Qs e

(i) 005 M CH;COOH faerz =1 wfigr 100 3T 9 T | 4k
I fR® 00354 cm™! B, d1 UHifes o faomm i Oier

TAhdT YRehied hifTy |

(i) HUS % forr@-stoeed @1 vom fRw fafew | 1 A1 MnO, @
Mn?* # s & fog B0 # fohed sta sl sTragEshar et 2
3+2=5

AASAT

20 AAAAAARMAAAAMAANAMANA



Answer the following questions :

(a)

(b)

(c)

(c)

31. (a)

56/2/2-12

What are reducing sugars ? 1

Classify the following into monosaccharide and disaccharide :

Fructose, Sucrose, Lactose, Galactose 1

Name the polysaccharide which is known as ‘animal starch’. Why is

it called ‘animal starch’ ? 2

1)

(i1)

(1)

(i)

OR

Name the isomers of glucose which in the cyclic form differ

only in the configuration of the — OH group at C — 1.

Presence of which functional group was detected when

glucose reacted with Bry water ? 2x1=2

SECTION E

The resistance of 0-05 M CHgCOOH solution is found to be

100 ohm. If the cell constant is 0-0354 cm_l, calculate the

molar conductivity of the acetic acid solution.

State Faraday’s first law of electrolysis. How much charge in

Faraday is required for the reduction of 1 mol of MnO, to

Mn2* ? 3+2=5

OR
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(@) (i)

(i)

0-0025 mol L} ¥eifess amat &l Il 525 x 102 Sem L |
Ifg uHifes ama & forw A(I)n 1 7 390 S em? mol_lé,?ﬁ

[N NN

gHehl YIS HIAT bl qiehar %Ii\aQ |

e HAH dell * VIS, hale iR gwy Afufsean fafgw | 3+2=5

32. fo=fafiga & 9 fedl gier & 3O dfST . 5x1=5

(%) IATHAHA THA hl fhted &7 faured Sl (4,) fohE TR Tqshershi™

g5 I faured i (A) § Gl & ?

o

faN .

(@) T=iad 9%d &1 [UPAC AW fafEu

[PtCly(en)y] (NOg)q

()  wANSRar AEY fagia (VBT) & YR W #@%d [Ni(CO),] &1 samtafd
3R gahiy =agR fofau |

(") @A [Co(NHjz)gl [Cr(CN)gl & g1 fohl ThR 1 THTIISAT TG AT

722

() Toreea & figia & smur W forelt SuegEdeH Aifies § 4t s @

g eh fo=amE Ty afc A, < P &1 | &1 I8 IUEeEdSH Ak 3

TIShUT 31T T J=IshUT Hped 8 ?

56/2/2-12
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b)) Q) The conductivity of 0-0025 mol L7l acetic acid is

525 x 107" S em™L. Calculate its degree of dissociation if A(I)n

for acetic acid 1s 390 S cm2 mol_l.

(ii) Write anode, cathode and overall reaction of lead storage

battery. 3+2=5

32. Answer any five of the following : 5x1=5

(a) How is the crystal field splitting energy for octahedral complex (A,)

related to that of tetrahedral complex (A;) ?

(b)  Write the IUPAC name of the following complex :

[PtClz(en)2] (NO3)2

(c) Write the geometry and magnetic behaviour of the complex

[Ni(CO)4] on the basis of Valency Bond Theory (VBT).

(d) What type of isomerism is shown by the complex
[Co(NH3)gl [Cr(CN)gl ?

(e) For the coordination compound on the basis of crystal field theory,
write the electronic configuration for d* ion if A, < P. Is the

coordination compound a high spin or low spin complex ?
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(") [Co(NH3)gl®" 3 [Co(NH3),Clyl™ H & i Boaifcdsh Tt & 3R
w1 ?

(®) [PtClylen)ol®" & TehlfiTeh THTET! hl TTEATT SHTSY |

33. (&) () T=afaRea & wro i .
(1) Ml I gorT § UeeaTssl i SRR ST il 8 |

(2) UfceaEEl % UeHl (o) BISGSH WA i Fehfd it

B 7 |

(i) Tr=feriaa srffshenati < Searg ferf -

(iii) UIHTEh ITFA 3 VYA H favie 13 & fou aea gErafes ghe
gt | 242+1=5

HAYAT



) Out of [Co(NH3)gl®* and [Co(NHj),Cly]*, which complex is

heteroleptic and why ?

(g) Draw the structures of optical isomers of [PtClz(en)2]2+.

33. (a) (@) Account for the following :

(1) Oxidation of aldehydes is easier as compared to

ketones.

(2)  The alpha (a) hydrogen atoms of aldehydes are acidic

in nature.

(ii)  Write the products in the following reactions :

(iii) Give a simple chemical test to distinguish between ethanoic

acid and ethanal. 242+1=5

OR
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(@) () IcEEEs & 2,4-SEISbHARRST I 6l TEHT ARy |

(i) Tfafaa s 3T HON & gfd stfrfshamsfiert % sgd g¢ %A |
SFIferd T ¢

CH3COCH; | (CHg)3C — COCHg , CH3CHO

(iii) AT HHA FHARRM SuEe *1 dge 3T ¥ TR TR

NN

YT~ h] ?

(iv) ddfcegEe 3 Wad | fave @ & fou g vamfies ghem
fefay |

(v) Tfafea stfufseen 8 g 3oarg fafan

o 5x1=5



(b) (1) Draw structure of the 2,4-dinitrophenylhydrazone of
benzaldehyde.

(ii)  Arrange the following in increasing order of their reactivity
towards HCN :

CH3COCHj3 (CHg)3C — COCHg , CH3CHO

(iii)  How can you convert phenyl magnesium bromide to benzoic

acid ?

(iv) Give a simple chemical test to distinguish between

benzaldehyde and ethanal.

(v) Write the main product in the following reaction :

o 5x1=5





